F30[

LLm

FYRHDRT _AKE [FTIVR)
[—HRSBF DB

AJOvD [+ 2 3 4 Bser I IEf |

1 ?ﬁﬁf zg 60| 62 | 62| 30| f

2 oy A 0-6 56 | 1-6 | 03| 4

3 s o 26 | 65 61 | 2-1 | 2

- o o o6 | 6-1 | 1-6 1-2 | 3
BDOOv7D \ | 2 3 4 BsE [ IBf7 |

1 aeid e 63 | 61 | 64| 30| 1

2 St AU 3-6 63| 56| 12| 3

3 e e 1-6 | 3-6 16 | 03| 4

4 o o 46 | 65 | 61 21 | 2
cCJov?D | 2 3 4 W

1 o v 64 | 26|62 21| 2

2 e IS 4-6 1-6 | 61 | 12| 3

3| fams e 62 | 61 60 | 30| 1

4 B o o6 | 1-6 | 06 oz | 4
DJOvD 1 2 3 4 BRE || lEf

1 o e 46 | 62| 60| 201 | 2

. zﬁ; EZ oy 6-4 6-0 | 6-0 | 30 | 1

3 infﬂf 513 ig;iz ;; 26 | 06 26 || O-8 4

4 ”ii ?i ;.j: 06 | 06 | 62 1-2 3




[—A&SBFDER]

1, 20KRIT =7 XY |k

J0v 2 281 iR 1R SF F
1 A ™ W S&V
— = TN S&V N =
6-1
" T g seaside
2 B2 A =N seaside Y x
6-2
3 c1 B X3 IJ/N—side
B 1EAE A 1) /N—side [=ES; 1FRE
6-3
AR BES IJ/N—side
6-0
. S8 BAX J1)—
° M mw mm e v =
6-1
e o S&V
6 D111 == kS S&V B #x
6-2
" a% R 1J/N—side
7 C2fiu - b S&V B% #x
6-5
B% {B% 'J/\—side
8 B1 fiI = B J/\—side
—_fn s IV — >
[— BB F D] 31, ABTRIT F—F AV
JOwvD Bal PhiE 1R SF F
o A s U=
1 A3 M B 51— B W
6-1
> D4 S =g O+« VILSCTZRDOST
. iy B 01 VILSCF-25T B8R  RE
6-1
" ELEN St TEO
3 C3fiz e S TEO EBA RA
6-0
. AH T S&V
6-3
" ESTN =35 JU—
5  cafu o s S— £R =2
6-2
LLEB fme U=
6 D3I seos =i J1)— 15 Y
6-1
" wsa =N NA1)=2
7 A4 ey " NA1— BS T
6-0
| )2 NA1J)=2




F30[

LLm

[IFEF I DOFf]

YHRBRT—AARE [(FTILA)

AJOvD 1 2 3 4 sER &1z
B ENND—2 T
1 ENES BN —2Z 6-4 | 36 (47%) 2
> KB HT A=
=18 25 /N —side - ~ 11
3 SiE Bl 1))\ —side 4-6 6-5 A47%) 3
&85 fEAED TEO ~ ~ 11
4 A 8% TEO 6-3 5-6 (55%) 1
BJ0OvD 1 2 3 4 BER li&{w7
T B TEO T2
1 WE B TEO 16| 46 | 60 (47%) 3
5P 55 NA—D - - - 1-2
2 Bl BA RA1)—D 6-1 2-6 4-6 (48%) 2
INEF B57EE S&V
3 WL B2 Savy 6-4 6-2 6-3 3-0 1
&= #H 'J/N—side _ _ _ 1-2
4 T 2 1) )X\ —side 0-6 6-4 3-6 (36%) 4
cCoovn 1 2 3 4 BN I&17
N2 ERI S&V
1 75 Savy 0-6 1-6 1-6 0-3 4
A& BN 1) J\—side
2 Ei =8 1) )N—side 6-0 65 | 26 | 2-1 2
A A e — =<
3 =M BT eI —2 6-1 5-6 3-6 1-2 3
R A8 NA—D
4 N R0 Nl — 6-1 6-2 6-3 3-0 1
DJOv?oD 1 2 3 4 B8R BT
1 W ERS 1) J\—side s-7 1-0 1
5ol B— 1)) \N—side
fI&p Z268 S&V
2 IVeR=iz S&V -8 O-1 2
3 PTaT A=
4 BYE
EJOv? 1 2 3 4 R _IBLs
AT 15— NA—D
1 = A RAY—D 6-1 6-1 2-0 1
B TS O1PILSCT =257
2 W =3 O« PILSCF =257 1-6 0-6 0-2 3
1V 80 S&V
3 P SaV 1-6 60 1-1 2
4 BYE




IEFSBF I DEf]

1, 23R F— XY

JOvs 281 i 1R QF SF
o8 [EPN: TEO
1 A1fiI o A% TEO 5E  mA
2 BYE o8 A
6-2
o P93 88 NAU=T
3 B2 =l BA NA)=" B BH
6-2
N ARS BN IJ/\—side
4 C2{u Bt 4 1)) \—side o8 WA
6-4
5 E1f A o A
= SH AR RAY=D P S
6 BYE FIEE )\t
6-2
7 BYE fIE it
o FIEp ] S&V
8 D2l It =i: S&V
N B 1= WAVAUWES S
9 A211 Vi = eI —2 BB
10 BYE AL Bl
6-4
11 BYE i< 10V ]
. AW (£ 'J/\—side
12 D1fu EOlG B 1) )\—side AL Bl
6-5
o B0 N NA=2
13 C1fu NS i Ny B IE
6-1
N KR (0 S&V
14  E2fi =l % S&V e E
6-2
15 BYE N Wk
. NG = S&V
1 6 B1 1u U_JJ: %R S&v




IEFSF I OEb]

3L, 4iRITE—FT AV

Jawvo 25 FhiE 1R SF F

D3k = B8 o

i % wA AgY—3 BE &
A3 =8 b 1)\ —side

B =5 B IJ/\—side EES e

4-1
cam m AR £/%/ D=2
=M B eI —2 nEE T
6-2

B4 NIEES b 1) J\—side

B 8 = 1) /N—side I=ES e

4-1

N INE = S&V

C4h It 5 S&V hE
6-2

cam B 7 O/ VILSCTF=2O5T

. M=) %5 O/ VILSCTF=ROST NE

4-3

Al AEF HhE FAE ST - |

i chig N Ny L

" AT AR TEO
B3 nE B TEO




LLm

[IF5EF O O3]

YHBERT _—_XAKXE [(FTIVR)

AJOvD [+ 2 3 4 |l
P75 1B Bl E
6-3 | 2-6 | 6-0 | 2-1 2
= SR O+ VILSCTZRDS5T
B 3A TEO
2 3-6 36 | 6-1 1-2 3
285 8- TEO
W &= NA)=2
3 6-2 | 6-3 6-2 | 3-0 1
AW IE— NAL)=2
20 281 O« VILSCTZRDST
4 \ o6 | 1-6 | 2-6 0-3 4
F KRB BT )=
BDOOv7oD 1 2 3 4 BREY BRI
=2 R S&V
46 | 16 | 1-6 | 0-3 4
&8 ET S&V
i 7 NAY=2
2 6-4 6-1 | 65 || 3-0 1
SR B8 1) J\—side
EAR IEX AVAUESY 4
3 \ 6-1 1-6 56 || 1-2 3
SBER 868 EN/ND—Z
E=iE B O« VILSCTZRDST
4 6-1 | 56 | 6-5 2-1 2
INZR 591 O« VILSCTZRDST
coovo 1 2 3 4 REEY [ BhI
by #¥— JNRED ) —> 1-6 6-3 0-6 1-2 4
RIS NIRST — (31%)
2 . SEY 6-1 16 | 26 | 2| 3
IR = S&V (40%)
3 1BIF F=K NA1)=2 3.6 51 5.6 1-2 5
5t S RAJ=D (45%)
WA IESE 1) /\—side
4 6-0 | 62 | 6-2 3-0 1
ER B O+ VILSCTZRDST




[IEFS+F I DEL]

1, 203RIT = XY~

Javo 281 B 1R SF F
D am e R— RAJ=D
= Ll IE— RAJ=2 W5 7w
2 BYE S5
62
N 1515 sk RAJ=—2
s C2f e oo Rt1)=2 e
61
4 B2 {1 SETES B4z O14VILSCT=—2DOS5T
e =3 O PILSCTF=2I5T LA ER
=
5 Aom s sz B8 — Y
B 528 1B= O VPILSCTZRDST WA EAR
61
6 C1 1 WA 1E3E 1))\ —side
H 7 #Fh O PILSCTF=2RIST LA B
=
7 BYE T
2/
i & RAY—D
8 BiIf SR = U/ \—side
Ir w1 — S
EESF I D8] 3fii. 4fRIFT =AU+
JOwvo B B 1R SF F
. sam =R F% XD —X
= BEE G EINND—Z =k EEE
2 BYE T
65
s aam R B8l OAVILSCTF=2I5T
- U KB RS —Y Dl EE
60
. L) — IR —Y
A sl 2| % NRST — TR
65
=z % S&V
5 B4l i 23 S&V % R
61
. 1 FOIE S&V
6 Csi IR s S&V Bp  2a
65
7 BYE Bh 25
<O
s Asm B 34 TEO

BExX —

TEO




By S »
%800 * rjEET—/(KE [97“/2]
T hv 4
— iR FDEL]
AJOvD 1 2 | 3| 4 | 5 |BB|NER
BAR w0 —h%
60| 64| 26|60 31| 2
H2 1B —h%
o3 NF — g
2 0-6 26 | 06| 06| 04| 4
WA BEF —h%
=H =2 O+ VILSCTFZ2OS5T .
3 4-6 | 62 o6 | o6 |25, 5
g1l O C O« VILSCTFZ2I5T
BRED B NA1)=2
4 62 | 60 | 60 63 | 40 | 1
W RE NAJ)=2
HFE =R | JJ\—side
5 06 | 60| 60 | 36 22 | 3
BRBE IJJ\—side




By FT_ARE (FTIVA)
%80 O =) M 5% —/( I ) l/
HTEFELZF I D]
['I O dDa
AJOvD [+ 2 3 4 |l
E#E RF S&V
5-6 6-0 6-0 2-1 2
B Z=h0 S&V
2BA ME 1) /N —side
2 6-5 6-4 6-1 3-0 1
WA BDOE 1))\ —side
E HED O« VILSCTZRDOST
3 8 "l o6 | 4-6 6-1 || 1-2 3
E T3 O« VILSCTFZRDS5T
IV ST Beans
4 . 0-6 1-6 1-6 0-3 4
=0 #F Beans
BJOOvD 1 2 3 4 PR | IERT
AR =¥ NA1)=D
3-6 6-3 4-6 1-2 3
2 257 RA 1=
OR BAF 1) )\N—side
2 6-3 6-0 6-2 3-0 1
ik 5= 1)\ —side
FiE KB TEO
3 o 3-6 0-6 4-6 0-3 4
T =7 TEO
AREE B+ O« VILSCTZRDST
4 6-4 2-6 6-4 2-1 2
ity R04% S&V
coovo 1 2 3 4 REEY [ BhI
T1i5% EM ) )N—side
3-6 6-4 1-1 2
BR rEhE 1)\ —side
AW BieF ) )N—side
2 _ _ | 6-3 6-4 2-0 1
TE HIH O VILSCTZRDSD
B F0F NA1)=2
3 4-6 4-6 02 3
ik fiF NRA1)=2
4 BYE




[itEF 22+ I DOEL]

1, 203RIT = XY~

JOwvo 281 B 1R SF F
A = e 1/t —side
- S HDOE 1J)\—side =) S| A
2 BYE =R
6-5
s Bom BRED EF  O1PILSCF=2957
Sty M S&V Fig BE
6-2
" Fi% =M, 1) J\—side
4
C2fi BE (eEpE /N —side =)
6-2
N wiE mEF S&V
5 A2 =i - S&V mE B
6-4
6 C1fm SELW B+ 1))\ —side
= tE H<H 01 PILSCF=295T BE EE
6-3
7 BYE BE k&
alR BAF 1))\ —side
8 BiIf 1 s /N —side
Ir w1 — S
TELZF I DER] 3fii. 4fRIFT =AU+
JOwvo B B 1R SF F
; B3 AT =7 RAY—D
o 2 E=F N1L)=2 NI 2
2 BYE AT =
4-0
3 BYE M C==r
" RY:e) BT Beans
4 A4
f =F T Beans nE sl
4-3
5 Bam A6 HBED TEO
Thk 2F TEO EI]=a} TH%
12
. B FF N1L)—=2
6 C31i
o 18 T RAY—D nE ol
4-2
7 BYE
g )l
5 el INE HED O PILSCF=295T

R

T2

O1VILSCT_RDS5T




F30[

LLm

Eagc e INOL

YHBERT _—_XAKXE [(FTIVR)

AJOvD [+ 2 3 4 Bser I IEf |

1 o A 62| 60| 62| 30| 1
3| ame e R 26| 03| 4
4 o ceene 26 | 16 | 62 12| 3
BJOv7D \ [ 2 3 4 BRas || IBfT
I o5 oz oo 0] 1
e BN I B
3 s A 2-6 | 2-6 56 | 0-3 | 4
4 inlsiol i 06 | 0-6 | 65 12 | 3
cCJov?D L1 2 3 4 | T
I PNEREEE
2 ‘2‘: Egi D«\ﬂ)ljs/g;;?;oa? 6-2 61| 61| 30 1
3 o e oeene 0-6 | 1-6 o6 | 03| 4
_ DJOvD 1 2 3 4 BEB [ IBfT

1 o o 61| 61| 63|30
2 EEEOE;H j : :E:ZZ :j :j -6 S I I
3 o A 16 | 36 56| 03| 4
I N EIE




[itEF 22+ I DER]

1, 203RIT = XY~

JOwvo 281 B 1R SF F
; o BiE KR RAJ=D
- 7= EfF RA1J=D aiE  BH
6-4
5 Bom | HED  OAPILSCF=205T
. =m #»F O« VISCT-2I5T S
65
3 C1 1 ] BAZE 1) /\—side
H =5 B O/ VILSCTF=205T nE =%
WO
4 Do a0 Mttt O VILSCF=205T
= RF  OAVISCT—2I5T 6l B
63
N 153 BI3H RAJ=D
5 A2 T 1 RA Y= %% TE
63
6 D1 i1 SR BEeF 1))\ —side
’l—,_]-/ |79 Y lJ / \“_Side 15@} _Fjﬁﬁ
61
" el BF IJ/\—side
roocel £ . /N —side T
65
EA OA3H IJ)\—side
8 BIM BE % F /N —side
Ir w1 — S
EELZF I D8] 3fii. 4fRIFT =AU+
JOwvo B B 1R SF F
" aR tHhF Beans
! ASH &0 BF Beans aR a0
a1
N I = RA1J=D
2 Damm St 2 NAY=D B8 80
-0
N he F5 RA1J=D
R - RAY=T B
4-2
N e e RA1J=D
4 Baf D =T RAY—D 5E B
13
. =alll] BT Beans
5 Cati e )% Beans E3E S8
4-0
6 D3 e T NS —>
== V3% N —Y B ==
20
. Al ZLE BEF O VILSCTZROST
n St BE O VILSCTF-205T WiE
-2
s Bam g2 9 &




